A B R & &
FE itk FREREH ZEAR wKo
T B K A O OR
= I%E (X% & E FERSE BEEXILBFE EIFAA IE (%% #=E . 18w =]
Ha® REEMES SR B XieFAH aXa® S
:gﬁjg:;%( . 4,369,680 | K F i =#P250-2 H304.20 |work—IL I AR E e HO0417 |WTRR HREH ArEE
ey N7 BBREESET | T SHIEX HARH KFXIE | H304.23 NHETKE 7445 MALEM |Htart o )
e |® 3,996,000 o e vEgk 7HES 1@ INABHEE Hetar| PERERSR
ati s o WAEREISE MR oF H30.9.28 OB — 84T =
(91.4%) BESEHK 2115
11,210,400 |kF 7 H A ERT32% #1114 H304.18 |BERBIREHEXE —=X H30.4.17 Efﬁfﬁ,;‘f :&Z—s‘zr&
) BIREHIE =3 —2-F5:
ErEEIE AR ARESERER | BRSM HIRT KTRE | H0419 | BRAEEME AAEE (st s e
T2 10,800,000 FREMIE 10 o :ﬁifmﬁ:ff;f z:;i Hh iz B i ER
vy =N > H& sz
(06.3% XIER FARERE H31.3.28 FA—FEH B2
HA et E/avYILEUE
#HRR IFITRBACTLEVE
Hiﬁfi‘i PhnlAV.S
_ 6,987,600 |K-F B AXMT32& 110 H304.18 |AZEERA M RAEHRER H30.4.17 gﬁ?;:iﬁz;;— ;ijegﬁrs
EAME R HESAE 445 ' DN _ =\
e | KERREREEAEER |OEMER e —2-F5: e B2t T—2-T50
giﬂ% XRBERFEBER 6,588,000 ASH ToRTo ena %E;%EE L_—(th12km Nngﬁ S s naas | AR
’ - — e =0.’ SUTEBAV LIS HERH =R
(043%) REMFER HAST H30.11.30 fg%ﬁ%;ﬁ . HALH b/t LA
— —
. 1,991,520 [KF7h B A SRET328E 1 14 H304.18 |BRESHEIERT XS H30.4.17 gﬁ?;:iﬁz;;— ;&gifé
L] il : B = . FtE#EE —X (& — 2 TS5
x| o A ERITERE | BRmen Btadt HTAa KFHE | H0419 | EHEARMER L-254km AREH |t ol
* 1,944,000 ik - RHEmYFELSH L=254km 1= SUTHHAL LA H:z;;i Mol R
976%) ER HAREE H30.9.29 EEERE —X e E/avHLEsk
2,730,240 |FE{RERAEETE O 162-1 H304.19 |Z“HtX-EOHMXO—EB H30.4.17 Egﬁﬁg Qﬁé—a
BT | RSO ETEISHT | B0 2 ~ i ansH RREX
ot TR 2667600 R 7UAY H30.4.20 AT[E%I HELH A —
07175 HEREFHR 1BE—ER H31.3.28




. % 7€ fli 1% EAREMET 2HEAR A oK
= I%E (%% 4% i FakS BEEXITBH BEIf£AH I% (%% ®B=E 8 W =
& 5 H = - i} B
HEE) REEBEL =REAR RfEFAR mEREA
ARs FUAY
2,652,480 |FE{RER{H L ET & 112401 H30.4.19 |BXHMX-EOMRDO—ER H304.17 |HRS# THED
A | FHI0EEIEEHT | Kkt ARRH PBI% vavazo | o AHES [RREE AR
EB M EX I BER T b2 = T 4. 3 = }]‘3’; o =
E=E 3 E(2IR) 2,592,000 1 Ht B ER
KRR PS5 H31.3.28
(97.7%)
ARs FUAY
2,592,000 | FE{HAMAE AT A & 10508 it H30.4.19  [/\fihX H30.4.17 |HR&t THESH
ETEEE [ FRHIOEEMEBET | EFH HRES THRES 30.4.20 Bt AR E % EEE%E Epigf‘l%
EEE EZUPCRLS Hiy = SEES H30.4. 3 ot BEAKE .
E=E 3 =(3IRK) 2,538,000 1 Ht B ER
HKERIEHE THRF— H31.3.28
(97.9%)
ARs FUAY
2,644,920 |FE{AERIHE BT S K544 H30.4.19 | KiE- &R H304.17 |HMEL#t THER
EEEE |SERSOEENEBET | SR AR EAH 30.4.20 Bt AR E % EEE%E Epigf‘l%
BB M EX I BER T (=] = E‘% 1 H30.4. ; = ﬁi% Hﬁ =
E=E 3 H(4IR) 2,581,200 1 Ht B ER
KRR BEREE H31.3.28

(97.6%)




